Mehedi Store



Presented by: Mehedi Hassan

Prepared by: Farzana Akter Verified by : A.S.M Shahidul Haque Singair Unit Area 3 GRAMEEN TRUST



BRIEF BIO OF THE PROPOSED NOBIN UDYOKTA

Name	:	Mehedi Hassan
Age	:	23-10-1997 (19 years)
Marital status	:	Unmarried
Children	:	N/A
No. of siblings:	:	0 brothers, 0 sister
Parent's and GB related Info (i) Who is GB member (ii) Mother's name (iii) Father's name (iv) GB member's info Further Information: (v) Who pays GB Ioan installment (vi) Mobile Iady (vii) Grameen Education Loan (viii) Any other Ioan Iike GCCN, GKF etc (ix) Others		Mother V Father Mrs. Kona Siddik Mr. Abu Bakkar Siddik Member since: 1995-2007(9 Years) Branch: Kangsha Centre # 61(M), Loanee no.: N/A First Ioan: Tk. 3000 Existing Ioan: Tk. N/A Outstanding: Tk. N/A N/A N/A N/A
Education, till to date	•	S.S.C

BRIEF BIO OF THE PROPOSED NOBIN UDYOKTA (CONT...)

Present Occupation(Besides own business, i.e., persuading further studies, other business etc.)	:	Grocery Business Trade License No: 00993
Business Experiences and Training Info (years of experience, if s/he received any on- hand training,	:	03 years
Other Own/Family Sources of Income	:	Father (Hen Sales Business)
Other Own/Family Sources of Liabilities	:	Νο
Contact no		01736339248
NU Project Source/Reference	:	GT Singair Unit Office, Manikgong



- NU's mother has been a member of Grameen Bank Since 1995 -2007 (9 years)
- At first she took a loan amount BDT 3000 from Grameen Bank.
- ***** NU's father expanded his business by the help of GB loan.
- NU's mother gradually improved their life standard by using GB loan.

PROPOSED NOBIN UDYOKTA BUSINESS INFO

Business Name	:	Mehedi Store
Address/ Location	:	Golora Singair. Manikgonj.
Total Investment in BDT	:	BDT 326000
Financing	:	Self BDT : 226000 (from existing business) 69% Required Investment BDT : 1,00,000 (as equity) 31%
Present salary/drawings from business (estimates)	:	BDT: 7000
Proposed Salary		BDT : 7000
i. Proposed Business % of present gross profit margin	:	10%
ii. Estimated % of proposed gross profit margin	:	10%
iii. Agreed grace periodiv. In future risk mgt. plan (from fire, disaster etc.)	:	05 months N/A

PRESENT & PROPOSED INVESTMENT BREAKDOWN

Particulars	Existing Business (BDT) (1)	Proposed (BDT) (2)	Total (BDT) (1+2)
Investments in different categories:			
(i) Different kind of items	174000	100000	226000
(ii) Furniture, Machineries and decoration	52000	-	100000
Total Capital	226000	100000	326000

Present Investment Breakdown

Particulars	No. of Item	Price per Unit (BDT)	Total Price (BDT)
Investment in different categories:			
(i) Different kinds of items			
Confectionary item	_	-	30000
Rice	07 bag	3000	21000
Mobile card	-	_	5000
Sugar	4 bag	1500	6000
Coil	-	-	5000
Flour	06 bag	2000	12000
Oil	05 tin	2000	10000
Potato,Onion,Ginger	-	-	15000
Drinks	-	-	15000
Ice cream polar	-	-	15000
Dal	_	_	10000
Baby milk.jam jally	_	_	10000
Cosmetic item	-	_	20000
Total-1			174000

Present Investment Breakdown

Particulars	No. of Item	Price per Unit (BDT)	Total Price (BDT)
i) Different kinds of Furniture			
Refrigerator	02	20000	40000
Fan	02	1200	2400
Television	01	5000	5000
Table	01	800	800
Wall Showcase	01	01	3000
Chair	02	400	800
Total-2	-	-	52000
Total(1+2)			226000

INFO ON EXISTING BUSINESS OPERATIONS

Dentitientene	Existing Business (BDT)				
Particulars	Daily	Monthly	Yearly		
Sales (A)	5000	150000	1800000		
Less: Cost of sales (B)	4500	135000	1620000		
Profit (C) [C=(A-B)]	500	15000	180000		
Less: Operating Costs					
Electricity bill		500	6000		
Shop Rent		-	-		
Night Guard bill		100	1200		
Mobile bill		300	3,600		
Present salary/Drawings- self		7,000	84,000		
Others cost ((fees, Entertainment, TL renew)		500	6,000		
Non Cash Item:					
Depreciation Expenses(4600*10%,47400*15%)		631	7570		
Total Operating Cost (F)		9031	108372		
Net Profit (E-F):		5969	71628		

FINANCIAL PROJECTION OF NU BUSINESS PLAN

Particulars	Year 1 (BDT)				Year 2 (BDT)			Year 3 (BDT)		
	Daily	Monthly	Yearly	Daily	Monthly	Yearly	Daily	Monthly	Yearly	
Sales (A)	5200	156000	1872000	5400	162000	1944000	5600	168000	2016000	
Less: Cost of Sale (B)	4680	140400	1684800	4860	145800	1749600	5040	151200	1814400	
Profit (A-B)=(C)	520	15600	187200	540	16200	194400	560	16800	201600	
Less: Operating Costs										
Electricity bill		500	6000		500	6000		500	6000	
Shop Rent		-	-		-	-		-	-	
Night Guard bill		100	1200		100	1200		100	1200	
Mobile bill		300	3,600		300	3,600		300	3,600	
Present salary/Drawings- self		7,000	84,000		7,000	84,000		7,000	84,000	
Others cost (fees, Entertainment, TL renew)		500	6,000		500	6,000		500	6,000	
Non Cash Item:										
Depreciation Expenses		631	7570		631	7570		631	7570	
Total operating cost		9031	108372		9031	108372		9031	108372	
Net Profit (C-D) = (E)		6569	78828		7169	86028		7769	93228	
GT payback		40	000		40000		40000		0000	
Retained Income:		38828			46028			53228		

CASH FLOW PROJECTION ON BUSINESS PLAN (REC. & PAY.)

SI #	Particulars	Year 1 (BDT)	Year 2 (BDT)	Year 3 (BDT)
1.0	Cash Inflow			
1.1	Investment Infusion by Investor	100000		
1.2	Net Profit (Ownership Tr. Fee added back)	78828	86028	93228
1.3	Depreciation (Non cash item)	7570	7570	7570
1.4	Opening Balance of Cash Surplus		46398	99996
	Total Cash Inflow	186398	139996	200794
2.0	Cash Outflow			
2.1	Purchase of Product	100000		
2.2	Payment of GB Loan*			
2.3	Investment Pay Back (Including Ownership Tr. Fee)	40000	40000	40000
	Total Cash Outflow	140000	40000	40000
3.0	Net Cash Surplus	46398	99996	160794



WEAKNESS

C	
J TRENGTH	

 Availability of Products Sourcing. Others (beyond family): Environment-Friendly. Skilled & 03 Years of Experience Maintaining High Standard in local areas Position of his store beside main road. 	 Opponent in same areas Strike Lack of fund
OPPORTUNITIES Expansion Of Business To acquire financial solvency 	T HREATS ≻ Fire ≻ Theft





















গণপ্ৰজাতস্ত্ৰী বাংলাদেশ জন্ম ও মৃত্যু নিবন্ধকের কার্বালয় সিংগাইর পৌরসভা উপজেলা ঃ সিংগাইর, জেলা ঃ মানিকগরু, বাংলাদেশ। खाना जनम (जन्म निवचन नहि हहेरक छेकुक) নিবন্ধন বহি নং তিওঁ 841 BIBA 1 MEALIN (BE) 1 (BE) 1 2013013703 -mentile (Cretz)+z and a construction the same weather the weather and the mistres miner, minerpag (anonitia was a state the) Scences andmose Ministers

	সিংগাইর পৌরসভা ত্রিড/অফেশন লাইসেল	
লাইনেক নহ লাইনেক আইটি বয়াওঁ নহ সাবেনিস/বাজা/মৰজা লাইনেক ইন্টাৰ কাৰিব নৰায়নেৰ অৰ্থ বছৰ দৰায়নেৰ বাৰিব	* 000000 * 000000 * 000000 * 00000000 * 00000000	

পৌরসারা অটেন -২০০৯ এর ২০-২-১০৮ ব্যারার ওর অহাজির এর ৮, ১০, ১৯ ত ২২ আইটার অনুনারে (এর, রাজেনা, কলিং ব বিরলেন) ব্যবসা/দেশার অনুযোগন নার নিরে কলির কলি/ব্যক্তিরাদের অনুষ্ঠান দেশরা হলি । মারার জেলা ২০১৫টা নামের ৫০ জুন নাইর কলেং বারিবে ।

- > বাৰ্ষনা প্ৰতিষ্ঠালনৰ নাম
- A 1 MEMORY MINT
- O : MERCONE HERE
- as a firmer, rectified where
- of a second with
- to a represent self-independent threasant
- was antifecture theorem (workarse).

a state of the

AND DESCRIPTION OF ADDRESS OF ADD

- to a sufficience (Searching (Section))
- In a succession reality of
- 249 I CHINA CARACTER AND
- 3.3 I MORE FRANK

- , भूचि त्सायवन
- , মেহেন্টা ব্যাসান

: दमददमी टामेग्स

- , 'MI & A A A MAR A
- ঃ জন্যা বেগগম
 - CALIFORT HILL CALLAND, CHEVEN HILL 2. CHEVER, SHOWER &
- CHIMIST, WEITS HR.-O.C.
- · company, spand way out
- · 388880995400002083

MONTON SCOT	Break I
Can well complete the	800
जनविजननार्थ कर	-
নিবিশ	
100000	0
monarconal	0
CARTS	805

লাইকেলপানীৰ নিকট হাইছে মাৰল পাৰনা বালন মেট

cxe

the start start

